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Linear and Angular 

Variables 
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Moment of Inertia 
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Rotational Kinetic Energy 
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Newton's Second Law, 
Angular Form 
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Work and Power for 

Rotation 
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Angular Momentum 
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Frequency, Period, Angular 
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Simple Harmonic Motion 
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Spring-Mass system 
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Total Mechanical Energy in 
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Simple Pendulum 
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Physical Pendulum 
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Newton's Law of Gravity 
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Kepler’s Third Law 
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Energy in Planetary Motion 
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Newton's 2nd Law 
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Friction 
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Work and Energy 
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Springs 
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Power 
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Potential Energy 
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Gravitational Potential 

Energy 
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Elastic Potential Energy 
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Potential Energy Curves 
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Generalized Work-Energy 

Theorem 
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Linear Momentum 
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Rocket Equations 
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Center of Mass 
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1D Elastic collision 
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1D Displacement, Speed, 

Velocity, Acceleration 
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Constant Acceleration 
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Free-Fall Motion 
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2D Motion 
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Projectile Motion 
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Vectors 
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Uniform Circular Motion 
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Relative Velocity 
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Law of Cosines 
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